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Fernsehen ist immer noch das Medium Nummer Fins. Kein anderes Medium ist in der Lage, so schnell
tiber wichtige aktuelle Ereignisse zu berichten. Viele Jugendliche gebrauchen das Fernsehen beim Essen
und bei den Hausaufgaben. Auch bei Gesprachen mit den Freunden l4uft der Fernseher.

Aber dieser Uberkonsum von Fernsehen kann zu katastrophalen Folgen fiihren. Wer taglich viele Stunden
vor dem Fernsehen sitzt, und schlieBlich nicht genug schlift, verliert seine Konzentration.

Vor allem sind Kinder und Jugendliche gefahrdet : Sie werden oft dngstlich, nervés und sogar aggressiv.
Deshalb ist es wichtig und richtig das Fernsehen auch manchmal auszuschalten®. Die Eltern sollten ihren
Kindern andere Freizeitméglichkeiten vorschlagen®: Sport live erleben , Gesprache und Spiele mit
Freunden , eine Wanderung , die Natur beobachten , ein Musikinstrument spielen , ein interessantes Buch
lesen , basteln , fotografieren ... . Das Leben ist viel interessanter als das Fernsehen.

Aus: Richtiges Fernsehen will gelernt werden.(Google)
(verarbeitet)

*ausschalten: éteindre /  (sik *vorschlagen: proposer / 7z &

I. TEXTVERSTANDNIS (7Pte)

1. Richtig oder falsch? Begriinden Sie Ihre Antwort mit einem Zitat aus dem Text.
R |F

a. Das Fernsehen ist kein beliehtes Medium.

2. Fragen zum Text

a. Welches Medium wird am meisten gebraucht?

b. Das Fernsehen hat einen negativen Einfluss auf die Kinder. Zitieren Sie drei (3) Beispiele aus dem
Text.

c. Wozu sollte man das Fernsehen manchmal ausschalten?
d. Erklaren Sie den folgenden Satz: “ Das Fernsehen ist immer noch das Medium Nummer Eins.”
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3. Kombinieren Sie.

1. Fernseher a. treiben
2. Biicher b. treffen
3. Freunde c. lesen
4. Sport d. einschalten
1 2 3 4

4. Geben Sie dem Text einen Titel .

II. SPRACHFAHIGKEIT (8Pte)

A. Wortschatz
1. Ersetzen Sie das unterstrichene Wort durch ein Synonym aus dem Text.
Die Eltern sollten mehr Diskussionen mit ihren Kindern haben.
2. Erginzen Sie das Gegenteil des untersirichenen Wortes aus dem Text.
Das Fernsehen hat ........ und Feinde.
3. Wortbildung
a. Bilden Sie aus dem folgenden Adjektiv das passende Substantiv.
WICtE | sene o o s e
b. Bilden Sie aus dem folgenden Substantiv das passende Substantiv.
das Kind :  ...... ...
4. Ubersetzen Sie ins Arabische.
“ Viele Jugendliche gebrauchen das Fernsehen beim Essen und bei den Hausaufgaben.”
B. Grammatik
1. Setzen Sie ins Prateritum.
Nach Meinung der GroBeltern ist das Leben ohne Fernsehen viel interessanter.
2. Setzen Sie ins Perfekt.
Durch Fernsehen verlieren die Kinder ihre Kreativitat.
3. Setzen Sie ins Passiv .
Das Fernsehen verursacht Augenkrankheiten.
4. Ersanzen Sie mit der passenden Konjunktion: “dass” , “obwohl” , “wenn” , “sowohl...als auch”.
C: R junge Leute .......... Erwachsene sehen gern fern.
B s mins das Fernsehen Nachteile hat, bleibt es das Medium Nummer Fins .
c. Viele Experten sagen, ........... héufiges stundenlanges Fernsehen gefahrlich ist.
e & oo wen die Kinder mit ihren Hausaufgaben fertig sind , diirfen sie fernsehen .
5. Erginzen Sie das passende Relativpronomen .
Die Kinder, ...... zu viel fernsehen, verlieren ihre Konzentration.
6. Deklinieren Sie.
D.... Eltern sollten ihr..... Kinder auf die schlecht..... Seitend..... Fernsehens aufmerksam machen.

III. SCHREIBFAHIGKEIT (5Pte) (ein Thema zur Wahl )
Thema 1: Heutzutage verfiigt der moderne Mensch {iber mehrere Massenmedien (das Internet,
das Fernsehen, das Radio, die Zeitung ...). Welches Medium haben Sie am liebsten?
Warum 7
Thema 2: Das Fernsehen hat Vor - und Nachteile.
Schreiben Sie mit Hilfe folgender Stichpunkte einige Zeilen dazu.
Informationsmittel : Politik , Okonomie , Sport ..
- Bildungsmittel Sendungen tiber Wlssenschaft Kultur, Kunst und tiber das Leben in
fremden Léndern.
- Unterhaltungsmittel : Musik, Spiele, Filme ...
- Augenkrankheiten
- keine Kreativitat
- Faulheit
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Nach Meinung der Umweltexperten sterben viele Walder aus. Die kranken Baume produzieren nicht
genug Sauerstoff™ und immer mehr Menschen leiden unter Luftverschmutzung. Auch in Zukunft wird das
Waldsterben weitergehen, und der Mensch wird immer noch Gesundheitsprobleme haben. Die Autos
verunreinigen die Umwelt durch ihre Abgase. Besonders der Autoverkehr hat in den letzten Jahren stark
zugenommen. Dies fiihrt zur Luftverschmutzung und zur Umweltzerstérung. Aber auch die
Industriebetriebe geben ihre Schadstoffe® einfach in die Luft ab. Deshalb treffen Regierungen und
Umweltexperten MaBnahmen:

- Benutzung von Verkehrsmitteln wie Bahn oder Bus statt Autos.

- starkere Kontrolle der chemischen Produkte in der Industrie.

- Einbau von Filtern in die Industriebetriebe.

Alle diese MaBnahmen sind zum Schutz der Umwelt und der Menschen gedacht.

Aus: “ Mit Hértexten arbeiten™1. Auflage 1997
(Text verarbeitet)

*Sauerstoff : oxygene /[ .Sy
* Schadstoffe : matiéres nocives /{3 xzall) &5 slall o gl

I. TEXTVERSTANDNIS (7Pte)
1. Richtig oder falsch? Begriinden Sie Ihre Antwort mit einem Zitat aus dem Text.

R |F

a. Das Leben auf der Erde ist nicht in Gefahr.

2. Fragen zum Text
a. Was meinen die Umweltexperten?

b. Was verschmutzt die Umwelt?

c. An welche Lésungen denken die Politiker und Umweltexperten 7

d. Erklaren Sie den folgenden Satz: “Alle diese MaBnahmen sind zum Schutz der Umwelt und der
Menschen gedacht.”

3. Kombinieren Sie.

1. Klaranlagen a. filtern
2. Abgase b. bauen
3. Tierarten c. Benzin
4. Autos d. aussterben
1 2 3 4




I1. SPRACHFAHIGKEIT (8Pte)
A. Wortschaiz
1. Ersetzen Sie das unterstrichene Wort durch ein Synonym aus dem Text.
Die meisten Industriewerke sind umweltfeindlich.
2. Erginzen Sie das Gegenteil des unterstrichenen Wortes aus dem Text.
Man sollte nur gesunde Produkte essen, damit man nicht ......... wird.,
3. Wortbildung
a. Bilden Sie aus dem folgenden Substantiv das passende Verb.
die Benutzung  : ...
b. Bilden Sie aus dem folgenden Substantiv das passende Substantiv.
der Mensch b cemocmer n cessomens s
4. Ubersetzen Sie ins Arabische.
“ Deshalb treffen Regierungen und Umweltexperten Manahmen.”
B. Grammatik
1. Setzen Sie ins Prateritum.
Erst stirbt der Wald.
2. Setzen Sie ins Perfekt.
Die Menschen protestieren gegen die Umweltzerstérung.
3. Setzen Sie ins Passiv.
Die Autos zerstoren die Landschaft.
4. Erganzen Sie das passende Relativpronomen.
Die Stoffe, ...... die Gesundheit des Menschen gefahrden, miissen kontrolliert werden.
5. Erginzen Sie die passende Praposition: aus, iiber, mit, auf.
a. Die Zeitungen berichten ...... das Ozonloch.
b. Die biologische Kette besteht ...... Menschen, Tieren, Erde, Pflanzen, Luft und Wasser.
c. Greenpeace, eine internationale Organisation, beschéftigt sich ...... dem Umweltschutz.
d. Die Biirger warten ...... konkrete Losungen.
6. Deklinieren Sie.
D..... umweltfreundlich..... Biirger engagieren sichfiird..... Schutzd..... Walder.

III. SCHREIBFAHIGKEIT (5Pte) ( ein Thema zur Wahl )

Thema 1: Wie kdnnte man die Leute {iber die Gefahren der Umweltverschmutzung bewusst
machen? Begriinden Sie Thre Antwort mit Beispielen.

Thema 2: “ Der Wald stirbt “. Was kann der Mensch gegen das Waldsterben tun?
Schreiben Sie mit Hilfe der folgenden Stichpunkte einige Zeilen.

- Lebensraum der Tiere und der Pflanzen bewahren.

- Bau neuer Fabriken, Autobahnen ... begrenzen, kontrollieren.
- Béaume, Pflanzen durch Chemikalien nicht schadigen.

- Béaume nicht absdgen, sondern anpflanzen.

- Feuer im Wald verbieten.

- Miill / Abfélle zur Sammelstelle bringen.

- schadliche Stoffe reduzieren.
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Corrigé et baréme: Fernsehen.
I.Textverstindnis .
1. Richtig/Falsch
0.25x4 a. falsch: “Das Medium Nummer Eins.”
’ b. richtig: “Aber dieser Uberkonsum....Folgen fiihren.”
c. falsch: © ....Sie werden oft angstlich...... aggressiv.”
d. richtig: " Die Eltern sollten ihren Kindern...... vorschlagen.”
2. Fragen zum Text .
TPTS | o1x4 a. Das Fernsehen wird am meisten gebraucht.
b. Das Fernsehen hat einen negativen Einfluss auf die Kinder. Sie werden
angstlich, nervis und aggressiv.
¢. Man sollte das Fernsehen auch manchmal ausschalten, um andere Aktivititen zu
machen.
d. Das Fernsehen ist das beliebteste Medium.
0,25x4 3. Kombhination : 1. d 2. ¢ 3.b 4. a
1 4. Titel . Das Fernsehen/Richtiges Fernsehen/Das Medium Nummer Eins /
Vorteile und Nachteile des Fernschens.
(andere Titel auch werden beriicksichtigt.)
I1.Sprachfihigkeit
A/ Wortschatz.
0,5 1.Synonym : Gesprache
0,5 2.Gegenteil: Freunde.
0,5x2 3. Wortbildung.
a. die Wichtigkeit
1 4. Ubersetzung: axjiad (o g Al Ja ol g JY) o US JUAIY D ool Gludd) o S
B/ Grammatik.
0,50 1. Prateritum : ... war...
0,50 2. Perfekt: ... .. haben.....verloren
01,50 3. Passiv: Augenkrankheiten werden durch das Fernsehen verursacht.
0,25x4 4. Konjunktionen : a.sowohl. .als auch b.obwohl cdass  d.wenn
0,5 5. Relativpronomen: ....die....
0,25x4 6. Deklination : Die. .. ihre... schlechten...des.....
SPTS IT1.Schreibfihigkeit.
1 Plan
3 Ideen , Stil und Orthografie
1 Grammatik
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Corrigé et baréme : Nach Meinug
TPTS I.Textverstindnis .
1. Richtig/Falsch
a. richtig: “Nach Meinung der Umweltexperten...aus. Die Baume....
nicht genug Sauerstoff” .
0,25x4 b. richtig: “ ... immer mehr Menschen.. .unter Luftverschmutzung.”
c. falsch: " Die Autos verunreinigen die Umwelt.”
d. richtig: "Deshalb treffen Regierungen Mallnahmen.*
2. Fragen zum Text .
a. Die Umweltexperten meinen, dass viele Walder aussterben.
b. Die Autos und die Industriebetriebe verschmutzen die Umwelt durch ihre Abgase
1x4 c. Sie denken an folgende Losungen: Auf das Auto verzichten, nur Bahn und Bus
gebrauchen, den Gebrauch der chemischen Produkte stark kontrollieren , Filter in
die Industriebetriebe einrichten .
d. Diese Aktionen tragen zum Schutz der Umwelt und der Menschen bei.
0.25x4 3. Kombination : 1.b 2.a 3.d 4. ¢
1 4. Titel : Die Umweltverschmutzung und der Umweltschutz/ Umweltprobleme
(andere Titel werden beriicksichtigt)
3PTS I1.Sprachfihigkeit
A/ Wortschatz.
0,5 1. Synonym : ... betriebe
0,5 2. Gegenteil : ... krank
3. Wortbildung :
a. benutzen
0,5x2 b. die Menschheit
1 4. Ubersetzung : e gl Al o) pad g cile gSal) AT cad) 13t g
B/ Grammatik.
0,50 1 Prateritum : ... starb...
0,50 2 Perfekt : ....haben .... protestiert.
1,50 3.Passiv: Die Landschaft wird durch die Autos zerstért.
0,50 4. Relativpronomen:. .... , die .......
0,25x4 5 Prapositionen: a: tiber b:aus c:mit d: auf
0,25x4 6.Deklination : Die umweltfreundlichen. .. fiir den...der Wélder .
5PTS IT1.Schreibfahigkeit.
1 Plan
3 Ideen , Stil und Orthografie
1 Grammatik

2.2 i




derid) db) RSV & 1 131 &y g0
HIRRAPRETHESS SIS FURCIPYRH AR Y
2013 14 8493 S5 gl gy SIS Ol
Zt,,:;g-f S\ dald)

330 5 L 035 RIS [T SUI- PP R
) (e guda gl aaf JUAy o il o
3| £ sua gall
PART ONE: Reading (14 points)
A. Comprehension (07 points)

Read the text carefully then do the activities.
I think that ethics of social media is a sensible topic. For journalists, it is the making of great effort to
be accurate, to offer a diversity of viewpoints and to check the news sources.

Journalistic ethics is pretty much the same online as in print or broadcast: don’t use sources illegally,
tell readers how you got vour information, don’t accept gifts or money for coverage, tell the truth, be
honest and be accurate. Besides, journalists online mustn’t copy others” work and pretend it is theirs. But
one of the key questions is: if a journalist offers an opinion on Twitter, is that unethical? Does that violate
some type of rule?

Personally, 1 think that journalists must follow a basic code of ethics. First, you mustn’'t harm your
audience and try in every part of your life to avoid doing anything that would hurt another person. To me,
this doesn’'t mean writing only good or happy news. But it does mean getting as many sides of the story
as possible before writing about something that could put anybody in a bad light. It also means giving a
source an adequate chance to respond, not just calling once. Don’t put anything on the Internet
(Twitter, Facebook) that you'd be embarrassed to see on the front page of The New York Times. That
means nothing “inappropriate”, nothing that accuses another person of something without verified
support. If vou make a mistake, admit it. If you accidentally hurt someone, say you're sorry and try to fix
it. To me, this doesn’t mean you pretend you don’t have opinions. You re just honest with yourself about
how what you re thinking shapes your worldview.

By Graig Newark — Ethics Journalism (A lecture about the ethics of social media)

1. Circle the letter that corresponds to the right answer.
The text is...
a. an e-mail. b. a speech. ¢. an interview.
2. Are these statements true or false? Write T or F next to the letter corresponding to the statement.
a. Journalists have to make little effort to check their news sources.
b. Journalists must vary their viewpoints.
c. Journalistic ethics online differs from journalistic ethics in print.
d. Honest journalists should not deny their mistakes.
3. Fill in the following table with information from the text.
Journalists must be Journalists mustn’t do

1. 1.
2. 2.

4.In which paragraph is it mentioned that accusing people without proof is unethical?
5.Answer the following questions according to the text.

a. What are the different types of journalism mentioned in the text?

b. According to you, why mustn’t journalists accept gifts or money for coverage?

c. When must a journalist apologise to another person?

4 ul dada



6. Who or what do the underlined words in the text refer to?
a. theirs (§2) b. that (§3) c.it (§3)

B. Text Exploration (07 points)
1. Find in the text words whose definitions follow.

a. The means of communication that reach or influence people widely (§1)

b. The reporting of an important event or subject (§2)

2. Classify the following words in the table.

diversity - coverage - illegally

prefix root suffix

3. Rewrite sentence (b) so that it means the same as sentence (a).

1. a. The writer said, “You may harm your audience with unchecked information.”

b. Thewwriter told the journmlistse. o ceem s smomm omm sv svoms oo 56 S5 S5 S 156 89
2. a. If he does some serious research online, he will write interesting articles.

B UNLESS © oo
3. a. Journalists should tell the truth to people.

D Journaliste u s sres o mres aeseemsiam pres (searsiam pres (e e 1 s
4. a. He was elected journalist of the year because he writes good articles.

by Hervadites ool afildles . mommommn s aomesmmmenns s s e e s wmmn wumsoms o

4. Classify the following words according to their stressed syllable.
accuse - information - honest - newspaper

1*' syllable 2" syllable 3" syllable

5. Fill in the gaps with only Four words from the list.

various - listen - make - communities - events - important

Every day exciting things happen. For example, there might be an ..... Lesas meeting in your town or a
special event at your school. Journalists cover these..... 2..... and report them through the media. The
audience can follow what is going on in.....3......parts of the world. It is important for them to..... 4..... sure
the facts are accurate.

PART TWO: Written Expression (06 points)
Choose ONE of the following topics

Topic one:

Using the following notes, write a composition of 120 to 150 words on:
The unethical practices of some journalists.

- unethical journalism / growing concern
- use unfair / unbalanced reporting of news
- report false / harmful information / pictures
- quote a source without prior consent (plagiarism)
- don’t verify news sources

Topic two: Write a composition of 120 to 150 words on the following topic:
Experts in education have witnessed a lack of discipline in schools nowadays. What impact does
this have on teachers and pupils? Suggest concrete actions to solve this problem.

4 (a2 dada
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PART ONE: Reading (14 points)
A. Comprehension (07 points)

Read the text carefully then do the activities.

In Britain there are a number of different kinds of Higher Education. First of all, of course, there are
universities. Nobody can have failed to have heard of Oxford and Cambridge, the two oldest universities
in England, but, of course, there are a number of other universities, many of which have opened since the
war. The latest of these is the Open University, a unique institution, which, as its name suggests, is open
to all. Students of the Open University are not obliged to have any previous qualifications. All the
students are part-time and are taught through the medium of television and radio, although they do receive
some personal tuition as well through centres located near their own homes. The first graduates were
awarded their degrees in 1973.

Besides the universities, there are other institutions such as Polytechnics and Technical colleges. These
tend to offer courses of a vocational nature as well as academic courses. If a student wants to study
Management, Accounting or Librarianship, for example, he would be more likely to go to one of these
institutions.

The vast majority of students receive grants from their Local Authority, which cover tuition fees and
allow a certain amount of money to the students to pay their keep and their books. Most of the colleges
and universities have a good proportion of students from overseas.

(From Access to English /Turning Point)

1. Circle the letter that corresponds to the right answer.
The text is...
a. descriptive. b. argumentative. C. narrative.

2. Are these statements true or false? Write T or F next to the letter corresponding to the
statement.
a. All British universities are more recent than Oxford and Cambridge.
b. Qualifications are required to enter the Open University.
c. Higher education in Britain is free of charge.
d. The majority of colleges and universities in Britain accept foreign students.

3. In which paragraph is it mentioned that students are helped to finance their studies?

4. Answer the following questions according to the text.
a. Give two reasons which make of the Open University a unique institution.
b. Are students at the Open University compelled to attend full-time lectures? Justify by
quoting from the text.
c. Who attends Polytechnic and Technical colleges?

5. Who or what do the underlined words in the text refer to?
a.its (§1) b. their (§1) c. these (§2) d. which (§3)

6. Give a title to the text.

4 (a3 dada



B. Text Exploration
1. Match the words with their definitions.

Words Definitions
1. degrees a. money given by a government to help students.
2. grants b. connected with skills, knowledge.
3. vocational c. given by official decision as a prize.
4. awarded d. grades given by a university to someone who has passed an examination.

2. Complete the chart as shown in the example.

(07 points)

Verb Noun Adjective
| Example to educate education educational
............... qualification
.............................. specialized
orespect | e | i

3. Combine the pair of sentences with the connectors provided. Make the necessary changes.
provided that - although - so that - whereas - such a ... that
1. a. The government grants poor students. They want to go on further studies.
B s i i i T 0 D B A S B B B B
2. a. In America education is considered to be the responsibility of each state.
Great Britain has a national educational system.
D
3. a. Many students receive grants. They still have financial problems
b. .. w
4. a. Reading is an important skill. Students ought to master it at an early age.

& o O O U —

4. Classify the following words according to the pronunciation of their final “s”.
colleges - qualifications - students - courses

Is/ (zf fiz/

5. Reorder the following sentences to make a coherent paragraph.
a. and then take special national examinations
b. in order to be accepted to a university.
c. During the last two years of high school,
d. the students specialize in college preparatory courses

PART TWO: Written Expression
Choose ONE of the following topics
Topic one: Using the following notes, write a composition of 120 to 150 words on:
Some people say that teaching is getting more and more difficult. What are the main causes?
- lack of discipline/ violence
- overcrowded classes/ students not motivated

- impact of social media/ use of cell phone
- rehabilitate the value of teaching
- education shapes the future of generations

(06 points)

Topic two: Write a composition of 120 to 150 words on the following topic:
Compared with our ancestors’ lifestyle, ours has changed in many ways. State the main
similarities and differences between the two lifestyles.

4 (ud dada
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14 pts PART ONE: Reading.
07pts A. Comprehension

0,5 pt 0,5 1- b (a speech)
2 pts 0,5%4 | 2-a-F b-T ¢ F d-T
Ipt | 025%4 |3-

Journalists must be Journalists mustn’t do
1. honest 1. mustn’t copy others” work
2. accurate / ethical 2. mustn’t harm their audience
or — mustn’t tell lies/...............

0,5 pt 0,5 |4-(§3) / Last paragraph

02,25 pts | 0,75%3 | 5- a- printed — broadcast - online
b- It's considered as an unethical/illegal behaviour/a bribe/ a form of corruption
¢ If/ when he accidentally hurts/ harms someone else.

0,75 pt | 0,25%3 | 6- a- theirs : their work / journalists’ work
b- that : anything/ anything on the Internet
c- it : a mistake / make a mistake

07pts B .Text Exploration
09pt | 9252 | 1- a-media  b- coverage
Lopts | 053 |2- Prefix Root Suffix
divers(e) ity
cover age
il legal ly

3 pts 0.75%4 | 3
1. b. The writer told the journalists (that) they might harm their audience with

unchecked information.

2. b. Unless he does some serious research online, he won’t write interesting
articles.

3. b. Journalists had better/ ought to tell the truth to people.

4. b. He writes good articles, consequently he was elected journalist of the

year. (accept any link word of result)
Ipt | 0254 |4 I'" Syllable 2" Syllable 3T gyllable
honest accuse information
newspaper
1 pt 0,25%4 | 5. 1- important 2-events 3-various 4- make
O6pts PART TWO: Written Expression

Topic One: TForm: 3,5 pts  Content: 2,5 pts
Topic Two: Form: 3 pts Content: 3 pts

2 31 dada
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14 pts PART ONE: Reading.
07 pts A/ Comprehension
0,25pt | 0,25 1. a- descriptive
O2pts | 054 | 2.aT bF cF 4T
0,5 pt 0,5 3. § 3 The last paragraph.
3 pts 1x3 4. a-The Open University is unique since it doesn’t require any qualification.
In addition students are taught through the medium of television and radio.
b- No, they are not. “The students are part-time..."
¢ A student who wants to study Management, Accounting or Librarianship,
attends Polytechnics and Technical colleges.
1pt |0,2544 | 3.a-its: the Open University b - their : all the students
c- these : Polytechnics and Technical colleges d- which: grants
0,25pt | 0,25 6. Title : The British Higher Education/ Higher Education in Britain
07 pts B/ Text Exploration:
Olpt [0,25x4 |1 1-d 2-a 3-b 4-c
Lopts | 0.25%6 | 2.
Verh Noun Adjective
to qualify / qualified
to specialize [specialization/
speciality/specialist i
/ respect / respectability respectful / respectable
Zpts | 05x1 |3
1-b.The government grants poor students so that they can/ will go on further studies.
2-b.In America education is considered to be the responsibility of each state whereas
Great Britain has a national educational system.
3-b. Although many students receive grants, they still have financial problems.
4-b. Reading is such an important skill that students ought to master it at an early
age.
1pt |0, 25x4 4-
/s/ /z/ fiz/
students | qualifications colleges
courses
L5pts 105x3 |5-1¢ , 2d , 3a , 4b (0,5 eachpair)
O6pts PART TWO: Written Expression

Topic One: Form: 3,5 pts Content: 2,5 pts
Topic Two: Form: 3 pts Content: 3 pts
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En la relacién entre padres e hijos la clave estd en el didlogo. Hablar de un problema es tenerlo
ya medio solucionado. Pero, {Cudnto cuesta hablar con los hijos adolescentes! Sin embargo, hay
que intentarlo. Para ello, hay que crear el ambiente propicio y buscar el momento adecuado: no
cuando los padres quieren, sino cuando ellos lo necesitan.

El requisito de toda comunicacién es la confianza. Es una virtud reciproca, quien la otorga la
recibe a su vez. Si no confiamos en nuestros hijos, si no les damos confianza, quedaremos sin saber lo
que les pasa.

El didlogo con hijos adolescentes funciona, solo si aceptamos sus formas y entendemos su
registro. L.a serenidad la tenemos que poner los adultos. Mediante el didlogo se razona y se hace
razonar. No se trata de imponer a nuestros hijos nuestro punto de vista, sino de presentarles razones
que tengan peso para ellos.

Otro requisito para comunicar, padres e hijos debemos intentar llegar a establecer pactos. Al
conversar, hay que saber ceder en lo superficial para “ganar” en lo esencial. La cuestion es que
cuando se pacta, se produce un compromiso y el compromiso une.

Por 1iltimo, hay que aprovechar el didlogo para dar criterios a los hijos. No se trata de hacer
de cada conversaciéon un sermén* o una reprimenda. l.as conversaciones no deberian ser
violentas para que nosotros los padres podamos ir sembrando valores en nuestros hijos.

En todo momento, debemos procurar transmitir optimismo, seguro que hablamos mds con
nuestros hijos que encuentran en nosotros unos padres con los cuales puedan contar. Quizas sea
lo que mas necesitan en la etapa vital que estdn viviendo.

Texto adaptado de Pilar Guembe y Carlos Goni

* Sermén = Reproche / Advertencia.

I- Comprension del texto: 07 puntos

1- Indica si es verdadero o falso: (2 ptos)

Justifica con una palabra

Las frases VI F o frase del texto

a- El didlogo es indispensable dentro de la familia.

b- Los pactos no sirven en la relacién entre padres e hijos.
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2- Saca del texto los requisitos que favorecen la buena relacion entre padres e hijos.
3- Segtin el autor, ;Qué deben evitar los padres para no tener conflictos con sus hijos?
4- Explica la frase: «... debemos procurar... que estdn viviendo. »

5- Da un titulo al texto.

II- Competencia lingiiistica: 07 puntos
1- Rellena el recuadro:
Verbo Sustantivo Adjetivo
................... Compromiso
Aproveehar | sseesesms | seeesmees
...................................... Violenta
Recibir | i | i

2- Une con flechas la palabra con el sinénimo o anténimo conveniente:

Requisito Calma
Serenidad Mutua
Reciproca Profundo
Superficial Condicién

3- “El didlogo funciona sélo si aceptamos sus formas” .
- Comienza la frase por:
- El didlogo funcionaria ...
4- “Hay que saber ceder en lo superficial”.
- Reemplaza Hay que por Hace falta que.
5- | No sedis autoritarios con vuestros hijos !
- Reescribe la frase a la forma afirmativa.
ITI- Expresion escrita: 06 puntos
Elige uno de los dos temas:
1- Para fomentar las relaciones entre padres e hijos, hay que comunicar.
¢ Qué opinas ?
2- Ll conflicto entre padres e hijos es un gran problema.

¢ Cudles son sus causas ? y ; Cémo se puede solucionarlo ?

(1 pto)
(1 pto)
(2 ptos)

(1 pto)

(2 ptos)

(2 ptos)

(1 pto)

(1 pto)

(1 pto)
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Realizar deporte es beneficioso para la salud. Segin la OMS (Organizacion Mundial de
la Salud), la realizacion de actividad fisica de forma continua, prolonga la longevidad* y
protege contra el desarrollo de enfermedades cardiovasculares, ataques cardiacos,
obesidad, hipertension, e incluso diversos tipos de cédncer.

El ejercicio fisico regular nos ayuda a nivel psicolégico a afrontar la vida con mayor
optimismo y energia, ya que aumenta nuestra autoestima y nos hace sentir bien. También
mejora algunos trastornos mentales como la depresion o la ansiedad.

Fn la edad infantil, lo mds importante para que el deporte sea verdaderamente efectivo,
serd seleccionar el que corresponda a cada nifio en particular, evitando de esta forma que
se convierta en un elemento negativo. Ante todo, habrd que preguntar al nifio cudl es el
deporte que le gustaria practicar y no hacer de la prdctica deportiva una obligacion.

El objetivo fundamental serd lograr la mejora de aspectos fisicos, psicolégicos y
sociales, asi como la diversién de los nifios a través de la practica deportiva. Practicar
deportes no soélo los divertira sino que los ayudard a prevenir enfermedades, promoviendo
una vida sana y feliz, a relacionarse mejor con su entorno y a disfrutar de su cuerpo.

Serd normal que el nifio empiece en el deporte influenciado por los amigos, por los
companeros del colegio, por los medios de comunicacién, por sus padres, etc. Pero, hemos
de tener en cuenta que el nifio, ante todo, se divierta.

Promover salud por medio del deporte, junto con la comunicacién y la educacién,
cumple un papel fundamental, al dirigirse a la sociedad con el objetivo de una mejor
calidad de vida. Sus principios son: intentar cambios y fomentar el desarrollo de los
factores protectores que impiden la aparicion de situaciones que perjudican la salud.

Estefania Rubio Gallego, 2006.
*Longevidad = Vivir largo tiempo.

I- Comprension del texto: 07 puntos

1- Indica si es verdadero o falso: (3 ptos)

P Justifica con una palabra

Las f vV
as Irases o frase del texto

a- la actividad fisica permite estar en buena salud.

b- Hay que imponer a los nifios la préactica de deportes.

c- Se informa a la sociedad sobre la importancia del
deporte para mejorar la calidad de vida.

4 o 3 ide




2- ; Cuales son los beneficios del deporte a nivel fisico y psicolégico ?

(2 ptos)
3- ; Como podemos animar al nifio a practicar deporte ? (1 pto)
4- Da un titulo al texto. (1 pto)
IT- Competencia lingiiistica: 07 puntos
1- Rellena el recuadro: (2 ptos)
Verbo Sustantivo Adjetivo
.................................... Beneficioso
Corresponder | ......ooooiviiiiiis | iiiiiiiiii,
................... Depresion
................... Trastorno
2- Rellena los vacios con cuatro palabras del recuadro: (2 ptos)
a- Il deporte permite estar en buena ... fisica y moral. —
obligacion
b-Is importante que el nifio ... su deporte favorito. diversion
elija
c- La practica de deporte no debe ser una ... sino salud
un medio de ... para el nifio. Casligo
busque
3- Completa libremente : (1 pto)
- El gobierno construye infraestructuras deportivas para que ............
4- Completa con ser o estar : (1 pto)
- .... bueno que los nifios comiencen a practicar deporte en la escuela primaria.
- El deportista .... protegido contra las enfermedades.
5- Es importante que los padres motiven a sus hijos a hacer deporte.
Reescribe la frase comenzando por : (1 pto)

- Seria importante que

ITI- Expresion escrita: 06 puntos

Elige uno de los dos temas:

1- [l deporte es beneficioso para el cuerpo y el espiritu.
Argumenta en algunas lineas.

2- Actualmente, los jovenes se interesan menos por la actividad fisica.

;Por qué?
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07 I- Comprension del texto:
ptos 1- a- Verdadero
Justificacion:
- ... laclave est4 en el dialogo.
0,5x4 - Hablar de un problema es tenerlo ya medio solucionado.

- Mediante el didlogo se razona y se hace razonar.

- ... hay que aprovechar el didlogo para dar criterios a los hijos.
b- Falso
Justificacion:
- ...para comunicar, padres e hijos deben intentar. . .establecer pactos.
- Cuando se pacta, se produce un compromiso v el compromiso une.
Ipto | 2- El didlogo / La confianza / Los pactos.

Ipto | 3- -No deben imponer a sus hijos su punto de vista.

-No hacer de cada conversacién un sermén o una reprimenda.

-Evitar las conversaciones violentas.

Zptos | 4- La explicacién : Hay que adoptar siempre una actitud optimista para romper los
obstaculos que interceptan la comunicacidn, asi, se propicia el dialogo con nuestros
hijos que necesitan que estemos siempre a su lado, sobre todo en esta etapa muy
importante de su vida que es la adolescencia.

Ipto | 5-Eltitulo : Claves para hablar con nuestros hijos.

07 II- Competencia linguistica:
ptos
0,25x8 1- FEl recuadro:
Verbo Sustantivo Adjetivo
Comprometer(se) | Compromiso Comprometido/a
Comprometedor/a
Aprovechar Provecho Aprovechado/a
Provechoso/a
Violentar Violencia Violenta
Recibir Recepcion Recibido/a
Recibo Recibidor/a
Recibimiento Recepcionista
0,5x4 | 2- Unir con flechas :
Requisito Calma Requisito = Condicién
Serenidad Mutua Serenidad = Calma
Reciproca Profundo Reciproca = Mutua
Superficial Condicién Superficial # Profundo

Ipto | 3- El didlogo funcionaria sélo si + pretérito imperf de subj.
Ipto | 4- Hace falta que + pronombre personal + saber en presente de subj

Ipto | 5- | Sed autoritarios ...!

-
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06
ptos

Forma
2 ptos

Fondo
4 ptos

Forma
2 ptos

Fondo
4 ptos

III- Expresion escrita:

Temal : [-Introduccién:

II- Desarrollo:

- La importancia de la comunicacién entre padres e hijos.

- La educacion no se consigue sin propiciar el didlogo v

fomentar la confianza.

- Establecer pactos con los hijos adoptando siempre una actitud positiva.
- Atenderles en cualquier momento.

HI-Conclusion: Opinién personal.

Tema? : I-Introduccién:

II- Desarrollo:

a- Causas del conflicto:

- Falta de comunicacién y de comprensién por parte de los padres.
- Educacién con severidad e intolerancia.

- Imposibilidad de instaurar un clima de apacibilidad (discusiones
violentas, érdenes y prohibiciones) .

b- Soluciones:

-Hacer sentir a nuestros hijos que somos sus confidentes

para que tengan seguridad en si mismos.

-Iratarles con mayor comprensién y optimismo.

II-Conclusion: Opinién personal.

-
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07 ptos
0,5x6
2 ptos
1pto
1pto
07 ptos
0,25x8

I- Comprension del texto:

1- a- Verdadero
Justificacidn:
- ...es beneficioso para la salud.
- ... protege contra el desarrollo de enfermedades...cancer

b- Falso
Justificacidn:
... no hacer de la practica deportiva una obligacién
c- Verdadero
Justificacion:
- Promover salud por medio del deporte...cumple un papel fundamental al
dirigirse a la sociedad con el objetivo de una mejor calidad de vida.
2. Los beneficios del deporte :
a- A nivel fisico:
- Prolonga la longevidad .
- Protege contra el desarrollo de enfermedades cardiovasculares...
b- A nivel psicolégico:
- Avuda a afrontar la vida con mayor optimismo y energia.
- Aumenta nuestra autoestima.
- Nos hace sentire bien.
- Mejora algunos trastornos mentales como la depresidn o la
ansiedad.
3- Primero, debemos seleccionar el deporte que corresponde a cada nino v
preguntarle por el que le gusta.

Segundo, no debemos obligarle a hacer deporte sino explicarle que le ayuda a

llevar una vida sana y le permite disfrutar de su cuerpo asi como divertirse.
4- El titulo : - El deporte.

- Beneficios del deporte.

- Los nifios y el deporte.

II- Competencia linguistica:

1- El recuadro:

Verbo Sustantivo Adjetivo
Beneficiar Beneficio Beneficioso
Corresponder | Correspondencia Correspondiente/
Corresponsal
Deprimir Depresién Deprimido/a/Depresivo/a
Trastornar Trastorno Trastornado/a/Irastornador/a

-
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0,50x4 | 2-El deporte permite estar en buena salud. ..
Es importante que el nino elija ...
La practica de deporte no debe ser una gbligacién sino ... de diversién

1 pto | 3- Paraque + sujeto diferente + presente de subj.

0,50x2 | 4- Es bueno...
El deportista esta. ..

1 pto | 5- Seria importante que los padres motivaran/motivasen .

06 ptos III- Expresién escrita:

2 ptos | Forma

4 ptos | Fondo

Tema 1
I Introduccién :
lI- Desarrollo: los beneficios del deporte.
a- Fisicos:
- Mantener el cuerpo en buen estado.
- Controlar el peso y reducir las grasas.
- Prevenir las enfermedades cardiovasculares.
- EBvitar la vejez prematura
b- Psiquicos:
- Eliminar la ansiedad y el estrés.
- Integrarse en la sociedad y adquirir una mayor confianza en
si mismo.
- Vencer el fracaso.....
11-Conclusidn:
Tema 2
[-Introduccién:
II-Desarrollo:
-Las causas:
a- La vida sedentaria y la pereza.
b- La adiccién a la nueva tecnologia.
¢- La falta de motivacién y de orientacién por parte de los padres...
d- La falta de instalaciones deportivas. ..
HI-Conclusion:

-

40-04433.\4
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La fuite en avant de la modernité

L'époque n'est pas si lointaine ol certains espéraient que 1'évolution technique permette d'alléger le
travail et de libérer du temps libre. Cependant, cette promesse n'a pas été réalisée. C'est méme l'inverse
qui s'est produit. Nous avons le sentiment de manquer de temps, tout en étant équipés de toujours plus
d'appareils qui effectuent des taches a notre place. Dans une grande ville, la possession d'une voiture
entraine automatiquement une augmentation du temps de transport. De fagon surprenante, les nouvelles
technologies exigent en réalité du temps supplémentaire. De cette maniére, elles accroissent aussi le
rythme de la vie.

Au ceeur de cette logique paradoxale, il y a le processus d'accélération. (...) Libératrice pendant plus de
deux siécles, elle mettrait aujourd'’hui en péril la conduite de nos existences et, plus grave encore, la
possibilité méme d'une action politique capable de transformer le cours de l'histoire. ['accélération a
"pétrifié!"le temps.

Si certains théoriciens ont pressenti l'importance de |'accroissement de la vitesse dans la vie moderne,
ils ont surtout insisté sur une seule de ses dimensions : l'accélération technique. Il ne faut par exemple
aujourd’hui que six heures pour aller de 1'Hurope aux FEtats-Unis, 1a ou plusieurs semaines étaient
nécessaires jusqu'au milieu du siécle dernier. Les technologies “compressent I'espace”. Elles peuvent
aussi accroitre le rythme de la production matérielle (...). Mais comme, en fait, elles prennent souvent
plus de temps qu'elles n'en font gagner, les techniques entrainent aussi une “accélération du rythme de
vie" dont les fast-foods, le haut débit de I'Internet, 1'habitude nouvelle de faire plusieurs choses a la fois
sont quelques-uns des symptémes actuels. A cela s'ajoute une troisieme dimension: l'accélération du
changement social et culturel. "Il s'est écoulé trente-huit ans entre I'invention du poste de radio & la fin du
XIX® siécle et sa diffusion a cinquanie millions d'appareils, (...) tandis que cela n'a pris que quaire ans
pour la connexion & Internet”. Le rythme des innovations, la diffusion de la mode : tout va plus vite. Et, a
'échelle d'une vie, nous changeons de métiers, de conjoints ou d'orientations politiques beaucoup plus
souvent qu'autrefois. (...)

Nul n'échappe réellement aux effets de l'accélération. (...) A 1'échelle individuelle, d'abord, le stress,
I'hyperactivité et la dépression sont ses pathologies, chacune plus fréquente aujourd'hui. (...) A 1'échelle
des sociétés, ensuite, le discours de la crise, la multiplication des politiques d'urgence, sont parmi les
conséquences de la pression exercée par l'accélération.

Peut-on encore freiner 7 (...) Des scénarios envisageables pour le futur, les scientifiques tiennent le plus

. ) " - - ol f - 2 it . .
noir pour le plus probable : celui d'une “course effrénée & I'abime” " emportant un monde impuissant. (...)

Laurent Jeanpierre. Le Monde des livres du 15 avril 2010.

U Périfié : figé, immaobilisé, arrété.
2 Abime : grand malheur.
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QUESTIONS

I/ COMPREHENSION : (12 points)

1-

2-
3-

4-
5-

Le théme abordé dans ce texte est :
- grace a la modernité, 'homme a plus de temps libre.
- en dépit de la modernité 1'homme a moins de temps libre.
- malgré la modernité, le rythme de vie a ralenti.
Recopiez la bonne réponse.
Relevez dans le texte une expression synonyme de " accélération” .
L'évolution technique n'a pas donné plus de temps libre a I'homme.
Relevez dans le texte une expression qui le montre.
Relevez dans le 3™ paragraphe trois aspects de 1'accroissement de la vitesse.
Classez les expressions suivantes: Gain de temps — Accélération du rythme de vie — Manque de
temps — Ralentissement du rythme de vie, selon qu’elles indiquent :
Ce qu'aurait di apporter la modernité:

.....................................................................................

6- "Les technologies compressent l'espace.” ['expression "compressent I'espace’” veut dire:

T

- augmentent les distances
- raccourcissent les distances
- embellissent l'espace
Recopiez la bonne réponse.
" Mais comme, en fait, elles prennent souvent plus de temps qu'elles n'en font gagner (...)".
« paragraphe3»
A quoi renvoie le pronom "en" dans la phrase ci-dessus 7

8- " Personne ne peut étre a 'abri des conséquences de l'accroissement de la vitesse."

9.

Relire les deux derniers paragraphes puis relevez une phrase de sens équivalent.
Dans le dernier paragraphe les deux points introduisent :

- une énumération

- une comparaison

- une explication
Recopiez la bonne réponse.

10- Répondez par vrai ou faux.

- L'accélération engendre le stress.

- Les nouvelles technologies demandent moins de temps.

- Les spécialistes sont optimistes en ce qui concerne l'avenir de la modernité.
- L'accélération technologique permet de produire plus.

11- Complétez I'énoncé suivant a I’aide de ces mots : pathologies, accélération, modernité, libérer.

Au liende ................ lhomme, la ................. le soumet a plus de contraintes et lui
impose un rythme de vie de plus en plus rapide. Malheureusement, 1'............... lie a la vie
moderne engendre diverses .................. .

I/ PRODUCTION ECRITE : (08 points)

Traitez un sujet au choix :

1- Le texte que vous venez de lire, vous a plu. Vous voulez en faire profiter vos camarades de

classe. Alors, rédigez, en 150 mots environ, le compte-rendu critique de ce texte.

2- Certains pensent que les avancées technologiques ont sensiblement amélioré notre vie. [Yautres

par contre, affirment que le progrés scientifique est a l'origine de nouveaux problemes. Rédigez,
en une quinzaine de lignes environ, un texte dans lequel vous donnerez votre point de vue étayé
par des arguments et des exemples.
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Le spectre de la famine menacait les campagnes algériennes, "la bas, il ne faut pas avoir peur de le
. . 1 . - 3 .
dire, nous avons la famine et la soudure” n'est pas assurée ". La distribution des vétements et des tissus
obéissait & une réglementation discriminatoire”, les Musulmans des campagnes ne pouvaient recevoir que
des bons de tissus. Maitre Boumendjel rapporte que des femmes étaient restées plus d'un an sans sortir
parce qu'elles étaient presque nues; des péres n'osaient entrer dans leur maison, et avaient confié a leur
avocat n'avoir pas vu leurs filles depuis six mois.

Les mesures trés séveéres édictées en vue de la commercialisation des céréales durant le mois de
mars 1944 et l'application des sanctions prévues par les derniers textes notamment les peines de prison
(minimum de 6 mois) causérent une émotion considérable. Beaucoup de fellahs se plaignirent de la
brutalité et du manque de compréhension de certains agents chargés des perquisitions et de la rigidité des
textes qui ne laissaient pas au juge le pouvoir d'évaluer la peine en fonction de la gravité du délit.

Les difficultés économiques furent a l'origine de nombreuses manifestations de mécontentement;
des ménageéres protestérent contre la vie chére, des incidents eurent lieu 4 l'occasion de la non distribution
de denrées, des hommes dans les douars se dressérent contre les perquisitions de leur gourbi et les
arrestations pour transport irrégulier de provisions ... Mais la faim, les difficultés économiques étaient
mieux supportées que la soif de dignité. La meilleure preuve, c'est, d'une part, I'échec de la propagande
communiste de Liberté fondée en grande partie sur le ravitaillement et 1'amélioration des conditions
sociales et, d'autre part , le fait que les soulevements de mai 1945 n'ont pas été des émeutes de la faim. La
désastreuse situation économique des Musulmans, en particulier des habitants des campagnes, incita
I'’Administration a concevoir des réformes larges et sérieuses. Le champ était libre sur le plan économico-
social. Mais pouvait-on promouvoir une politique hardie dans ces deux domaines 7 Les services du
Gouvernement général, les élus des colons laisseraient-ils faire 7 Et surtout, les réformes étaient-elles
susceptibles de faire oublier aux masses leurs revendications nationalistes et d'amener les élites a accepter
la citoyenneté francaise ?

Mahfoudh Kaddache. Histoire du nationalisme algérien.

! Soudure : le fait de satisfaire 2 la demande au moment ol les stocks de nourriture sont épuisés.

Discriminatoire : sans égalité, avec distinction.
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QUESTIONS

I/ COMPREHENSION : (12 points)

1- L'auteur condamne les pratiques de I'Administration coloniale. Relevez deux mots ou expressions
qui le montrent.

2- "Mais pouvait-on promouvoir une politique hardie dans ces deux domaines ?" De quels domaines
s'agit-il ?

3- "la bas, il ne faut pas avoir peur de le dire, nous avons la famine et la soudure n'est pas assuree”
A quoi renvoie l'indicateur de lieu " /a-bas" 7

4- D'apres le texte, les Algériens se sont soulevés parce qu’ :
- ils étaient mal habillés.
- ils n'étaient pas respectés.
- ils étaient mal logés.
Recopiez la bonne réponse.

B My s une réglementation discriminatoire ". 'adjectif discriminatoire veut dire :

- Jjuste
- injuste
- équitable
Recopiez 1a bonne réponse.
6- "Mais la faim, les difficultés économiques étaient mieux supportées que la soif de dignité."
Réécrivez cette phrase en la commencant ainsi : « Les algériens ...................... de dignité »

7- Relevez du texte trois mots appartenant au champ lexical des sentiments.
8- "Il ne faut pas avoir peur de le dire ". A quoi renvoie le pronom "le" 7

9- Parmi ces quatre propositions, deux seulement, sont en relation avec les idées du texte.
Recopiez-les.
- larépartition des habits suivait des lois inégales.
- les fellahs étaient contents des actions de certains agents responsables des perquisitions.
- lasoil de dignité était mieux supportée que la faim.
- les problémes économiques étaient la cause de manifestations répétées.
10- Complétez le passage suivant a I’aide de ces mots : cependant — faim — Administration —
souffraient — compagnes — dignité.

Les conditions de vie dans les ................. algériennes étaient difficiles. La .................. et la
pauvreté étaient mal vécues. .............. les AlGErIens wos cas e s plus du non respect de
leur ..., qui était bafouée par 1'.................c. L coloniale.

11- Proposez un titre au texte.

IT/ PRODUCTION ECRITE : (08 points)

Traitez un sujet au choix :

1. Votre frére souhaite faire un exposé sur la colonisation. Vous décidez de 1'aider. Alors, faites-lui ,
en 150 mots environ, le compte-rendu critique de ce texte que vous lui transmettrez par e.mail.

2. Le Tiers monde connait un probleme d'insécurité alimentaire due en grande partie a la mauvaise
gestion des ressources naturelles. Quelles seraient d'aprés vous les actions a entreprendre en vue
de diminuer les effets néfastes de la famine ? Rédigez, en une quinzaine de lignes environ, un
texte dans lequel vous donnerez quelques solutions a ce probleme.

4 o 4 ixde



2013 0igr ciyps Ly ObesaY e f gk bl plug B3 st Bl

330 5 L. 03 3l FIPR ESTH I IPSCA Remd A1 FAUY 1 850 Lt
dadlal) : .
- Pi agall) Aday) ualic
P (J) g g pall) LAWY
12 pts I. Compréhension : 12 points
01pt 01 1- En dépit de la modernité 'homme a moins de temps libre.
01pt 01 2- l'accroissement de la vitesse.
01pt 01 3- manquer de temps / augmentation du temps de transport / pétrifié le temps /
temps supplémentaire.
01.5pt | 0.5x3 |4- [laccélération technique
- " accélération du rythme de vie".
- l'accélération du changement social et culturel
- exigent en réalité du temps supplémentaire
5-
Ce qu'aurait dii apporter la modernité | Ce qu'elle a réellement apporté
- Gain de temps - Accélération du rythme de vie.
Olpts | 0.25x4 - Ralentissement du rythme de vie. - Manque de temps.
0.5pt 0.5 | 6-raccourcissent les distances
0.5pt 0.5 | 7-autemps
1pt 1 8- Nul n'échappe réellement aux effets de 'accélération
0.5pt 0.5 | 9-une explication
10- Vrai
02pts | 0.5x4 Faux
Faux
Vrai
02pts | 0.5x4 | 11- libérer — modernité — accélération — pathologies .
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12pts L. Compréhension 12 points
OIpt | 0.5x2 | 1-réglementation discriminatoire / mesures trés sévéres / peines de prison /
brutalité / rigidité des textes / manque de compréhension /désastreuse
0Ipt | 0.5x2 | 2 économique + social
01pt 1 3- la -bas = les campagnes algériennes
01pt 1 4- parce qu'ils n'étaient pas respectés
0.5pt 0.5 | 5- discriminatoire = injuste
01pt 01 6- Les Algériens supportaient mieux la faim, les difficultés économiques que la
soif de dignité.
01.5pt | 0.5x3 | 7- Champ lexical des sentiments : peur /émotion/ mécontentement/
0.5pt 0.3 | 8-le = la famine menagait les campagnes algériennes.
02pe 1x2 | 9-larépartition des habits suivait des lois inégales.
- les problémes économiques étaient la cause de manifestations répétées.
Lopt | 0.25%6 | 10- campagnes — faim — cependant — souffraient — dignité —' Administration.
01pt Ipt | 11- accepter tout titre en relation avec la thématique du texte.
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Sujet 1 (COMPTE RENDU)
1. Organisation de la production 3 pts
0.5 -- Présentation du texte (mise en page)
03 -- Cohérence du texte
0.25x4 - Progression des informations
- absence de répétitions
- ahsence de contre sens
- emploi de connecteurs
05x3 | --structure adéquate (accroche — résumé - commentaire)
2. Planification de la production 2 pts
02 01 -- Choix énonciatif en relation avec la consigne
01 -- Choix des informations (sélection des informations essentielles)
3. Utilisation de la langue de facon appropriée 3 pts
01 - Correction des phrases au plan syntaxique
0.5 -- Adéquation du lexique a la thématique
03 0.5 -- Utilisation adéquate des signes de ponctuation
0.5 -~ Emploi correct des temps et des modes
0.5 -- Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
Sujet 2 (Production libre)
1. Organisation de la production 3PTS
0.5 -- Présentation du texte (mise en page selon le type d’écrit demandé)
' — Cohérence du texte
03 - Progression des informations
- absence de répétitions
(et - absence de contre sens
- emploi de connecteurs
0.5x3 - structure adéquate (introduction — développement — conclusion)
2. Planification de la production 2 PTS
02 01 -- Choix énonciatif en relation avec la consigne
01 -- Choix des informations (originalité et pertinence des idées)
3. Utilisation de la langue de facon appropriée 3PTS
01 -- Correction des phrases au plan syntaxique
0.5 - Adéquation du lexique a la thématique
03 0.5 -- Utilisation adéquate des signes de ponctuation
0.5 -- Emploi correct des temps et des modes
0.5 -- Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
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Tuyalin

Aseggas d uzgen i yeqqim Remdan di Fransa. Yiwet n tmeddit n umezwaru n lexrif,
Furulu akked gma-s Dadar uyalen-d seg lexla, nehren-d tajlibt n tyetten. Mi d tikli ad awden
taddart, mlalen-d Hsen, mmi-s n xalti-tsen. Hsen yekna yer Dadar, yebbi-t di thenket-is, yenna-
as; "Azzel, zwir gma-k s axxam, yusa-d baba-k".

Arrac bedden di tlemmast n ubrid am wid isereen; Idin allen-nsen d yigemmucen-nsen,
geugmen, Yiwet n teswict, ijelleb Furulu, amzun di tnafa i d-yefrawes. Iserreh-as d tazzla s
axxam, yegga gma-s d Imal-is,

Deg uxxam, yufa yemma-s tcebbeh, tettmagar imzuren, baba-s zzin-as lgiran, irgazen,
tilawin, am uglaf. Iga abrid yer-s, msalamen. Yiwet n temyart, tenteq yer Remdan: «Yewwed d
argaz Furulu, ad t-yehrez Rebbi,

- Adkem-ihenniRebbi. D tidet meqqger. Yerna d lawan, aql-i fukkey.
- Ke&lini? Tura i tgehded wala zik! »

Win ara imuglen mlih di Remdan, ad t-yaf ibeddel nezzeh: irebba lehnak, yebbelbel,
taksumt-is mellulet, udem-is d azeggay; amzun urgin yudin! Kra n win yesean win i as-yettilin
deg Lpari yesteqsa fell-as, Remdan yettarra-d yef tuttriwin-nsen s wawal azidan,

Thar Furulu melmi ara ffyen lyaci akken ad yeqqim netta d yimawlan-is. Tit-is yer yiwet n
teymert, teennec dinna yiwet n tbalizt d yiwen n uqrab. S netta s watmaten-is, mi walan
aneggaru yekka tawwurt, nneflen wulawen-nsen seg Iferh.

Imir, yejbed-d Remdan seg ugrab cwit n lqec, yebda-ten i warraw-is, yiwen yiwen, Din din,
Isan-ten, Axxam merra yebbergec, ferhen akken llan, Syin yeddem-d si tbalizt ameqqun n
lekwayed, ttwacudden am uttafttar, D lekwayed n uxxam n ccree n temdint n "la Seine "'.Yenna-
asen: «Walit tura acebbud-iw! Yekkes tigeffal n tsedrit-is, ikemmel awal-is: muglet amek i yi-
cerrgen! »

D acu kan takebbanit i t-yesxedmen yelzem-itt ccree ad as-d-tettak apansyu n wazal n 7080
n duru yal tlata wayyuren,

Tenna-as Fadma: " Attan-ayi inek d tawayit ideg yella nnfee! »

Mouloud FERAQUN,
Mmi-s n vigellil,
HCA, 2004, sb. 105.
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Isestanen :

I. Tigzi n udris: (06)

1- Ini-d d acu-t unallas deg tseddart tamezwarut, Ayyer ?

2- Furulu yefreh s tisin n baba-s, Mmeslay-d yef temsal i t-yesferhen,

3- Fadma tefreh ula d nettat, D acu i d-yemmalen aya deg udris?

4- Suffey-d seg udris aktawal (iger n umawal) n tfekka.

5- Beddel awal yettuderren s uknaw-is (urwas-is) ilmend n usatal: ' Agl-i fukey !

IL. Tutlayt: (06)

1- Sled isegran n tafyirt-a: nneflen wulawen-nsen seg Iferh.
2- Efk-d talya taherfit n umyag “yefrawes”.

III.Asenfali s tira : (08)

Deg tallit n Urumi, ugbel tagrawla n 1954, Remdan yuyal-d seg Fransa, yegla-d s wattan.
Maca, yewwi-d apansyu. Xersum d at uxxam ad rwun ayrum. Awal tenna-t-id Fadma, “d
tawayit ideg vella nnfec!”

Aru-d ullis ideg ara d-temmeslayed yef lyerba gar zik d tura,
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Tadyant n Lwiza

Ger yidurar n legbayel elayen, temmyi-d tjeggigt mellulen, isem-is Lwiza, d taqcict
icebhen atas, tufrar vef tullas n taddart-is merra, Asmi temmut yemma-s tegga-tt-id tesea
rebeettac n yiseggasen deg leemer-is, Baba-s ieawed zzwag, Lwiza teqqel d tarbibt, Asmi
tessawed eecrin n yiseggasen, ttuqten-d fell-as yinexdaben; yusa-d yiwen n yilemzi iegeb-as,

tegbel-it, aseggas kan tedda, tesea-d yid-s taqcict tsemma-as Zehra.

Asmi walan I¥aci izad rrbeh d lehna vef Lwiza, usmen, bdan heddren, gren-d fell-as ayen ur
texdim, awal yewwed ver umezzuy n urgaz-is, dva yerfa ivil d sseh, texdel nnif-is, yekker yebra-
as, tegga-n yelli-s deg dduh, tuval-d s axxam n baba-s teqqim aseggas yuval yusa-d yiwen ixdeb-
itt, yux-itt, tuval terfed s tadist tesea-d aqcic. Imi Rebbi irad akka zzwag-is ur idum ara
tennebra-d, tuxal ver yifassen n tmettut n baba-s; terwa lemrar. Gren-tt deg yiwet n texxamt

tama n ubrid, d tamectuht tesea tadwigt, teqqim deg-s tlata n yiseggasen s yiwet n tgendurt,

Ussan zerrin, Lwiza tettidyiq ddunit fell-as. Yiwen n wass tedra yid-s am tmeslubt, terwel-d
seg lhebs-is, tettazzal ur tezri anda, armi tt-yerza facal, texli ur d-tewwi s lexber, yufa-tt-id
yiwen yerfed-itt ¥er sbitar, yegga-tt din iruh. Mi d-usan yimesujiyen, dawan-tt, syin steqsan-tt,
tehka-asen-d tagsit akken tella, allen-is ttcercurent d imettawen. Dva kksen-as axbel, kkren
ssawlen i umdan-nni i tt-ieawnen yusa-d. Mi yesla ula d netta tagsit, tvad-it, yekker ijmee-itt

tettidir ver twacult-is.

Yiwen n wass tuhwag Lwiza lekwaved, terza ver taddart-is n zik akken ad ten-id-tesuffey.
Deg ubrid-is, temlal d yelli-s maca ur myeeqalent ara, acku seg wasmi i tt-in-tegga deg dduh ur
tt-twala, ula d Zehra wergin tessin yemma-s ur tezri temmut ney tedder. At taddart ur ttun ara
tajeggigt i d-irebba udrar-nsen, ssawden lexbar ver Zehra, nnan-as yemma-m atta deg taddart,
Taqcict yeffey-itt leeqel, tumen ur tumin, tnuda armi tt-temlal, tmuger-itt s yimetti, thennec-itt
ver tama-s, nneflent seg lferh. Mi tekker Lwiza ad truh tenteq vyur-s yelli-s: “A yemma ur tufid
sani ara terred, ad teddud yid-i, ad teiced deg uxxam-iw”, Tazwara tugi, armi eeddan wussan,

tuyal tegbel, truh ver yelli-s tkemmel yid-s ussan-is.

Akken gqaren: “Anwa ass yifen akk ussan ... Mi ara temlil tasa d wayen turew”,

Nora BELGASMIA.
Asenfali s tira di tmazivt,
H.C.A 2006- 2007. sb : 58-59
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Isestanen:

I. Tigzi n udris: (06)
1- D acuiihudden tudert n Lwiza, imi tewwed armi tennebra?
2- Kkes-d seg udris snat n tefyar i d-yemmalen yir ussan i tedder Lwiza.
3- Efk-d anamek n tefyirt-a: “Tettidyiq ddunit fell-as”.

4- Suffey-d seg tseddart tamezwrut aktawal (iger n umawal) n thuski (ccbaha).

I1. Tutlayt: (06)

1- Sled isegran n tefyirt-a: “Myegqalent”.
2- Qqgen tafyirt-a s tesyunt iwatan ger tiyi : (Ulamma, acku, yas akken), temled-d d acu i
tessenfalay :

- Usmen medden yef Lwiza ... walan izad rrbeh d lehna fell-as.

III. Asenfali s tira (08)

Lwiza tennebra-d, tegga yelli-s deg dduh.

-Aru-d ullis ideg ara d-tessugned (d-txayled) amek i d-tekker Zehra seg wasmi i tt-tegSa
yemma-s,
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¢ ganall | 312 * Tuyalin* &‘9.;.43.4.“
0.5 1- Deg tseddart tamezwarut anallas d azyaray, acku imyagen |
0.5 ftin yer wudem wis krad. Tigzi n
0.5 2- Ayen i yesferhen Furulu d icettiden i as-d-yewwi baba-s udris
seg Fransa.
3- Ayenid-yemmlen lferh n Fadma:
06 0.5x2 - Tcebbeh, tettmaggar imzuren.
0.75 - Mi d-tenna: "attan-ayi-inek d tawayit ideg yella nnfee! »
4- Aktawal n tfekka: tahenket, allen, igemmucen, lehnak,
0.25x9 taksumt, udem, acebbud, tit, ulawen.
5- Abeddel n wawal yettuderren s uknaw-is ilmend n usatal: "aql-
0.5 i fukkey" = yliy, zwiy, meqqrey, wessrey, deefey.
1- Tasledt n tefyirt : " nneflen wulawen-nsen seg lferh" Il
Tutl
0.5 - nnefl = d amyag yeftin yer yizri, d aseyru utlayt
0.5 -...n =d amatar udmawan, d asentel (d ameskar, amigaw ...)
06 1 -wulawen - d asemmad imsegzi.
1 - ..-nsen =d amqim awsil asemmad n yisem
05 | seg=tanzeyt
1 - Iferh = asemmad arusrid.
1.5 2~ talya taherfit n umyag "yefrawes" = friwes.
Adris ad yili d ullis. Aktazal ad ibedd yef yisefranen-a : 1]
- Taferkit : Asenfali
0.5 Asebter zeddig s tira
0.5 Tira tettwayer
- Afares :
e 1.5 Asentel iban
1.5 Adris d ullis (tayessa n wullis tefrez).
- Tutlayt :
0.5 Asemres n yinamalen n wakud / adeg.
0.5 Asemres n yimyagen d tmezra
0.5 Asemres n umawal
0.5 Aqader n yilugan n tira
0.5 Asigez n udris
- Taseddast / Tazdawt
05 Lebni n tefyar tummidin
0.5 Tugna gar tefyar d tseddarin
0.5 Agader n yilugan n tezdawt tadrisant
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